Answer on Question 64558 -Economics - Microeconomics

Suppose that in a year an american worker can produce 100 shirts or 20 computers, while a
chinese worker can produce 100 shirts or 10 computers.

A. Graph the production possibilities curve for two countries. Suppose that without trade the
workers in each country spend half their time producing each good. Identify this point in your

graph.

Answer.

" American worker
£ 1 T A(50;10)
; 10 @< T ® S
Chineese worker @
B (50: 5)

Answer provided by www.AssignmentExpert.com



